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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : SDC-5-SND ; Test Booklet Series

Serial No.

TEST BOOKLET
GENERAL KNOWLEDGE

Time Allowed : Two Hours Maximum Marks : 100

10.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
THAT TIIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TOREN OR MISSING PAGES
OR ITEMS, ETC. 1IF 80, GET IT REFLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number
and Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any omission/diserepancy will render
the Answer Sheet liable for rejection.

¥ou have to enter vour Roll Number on the Teat Booklel in
the Box provided alongside. DO NOT write anything else on
the Test Booklet.

This Test Booklet contains 120 items (questions). Bach item is printed both in Hindi and
Eanglish. Each item comprises four responses (answers). You will select the response which you
want to mark on the Answer Sheet. Tn case you feel that there is more than one correct response,
mark the response, which you consider the best. In any case, choose ONLY ONE response for
each ilermn.

. You have to mark all vour responses ONLY on the separate Answer Sheet provided.

See directions in the Answer Sheet
All items carry equal marks,

Before vou proceed to mark in the Answer Sheet the response to varicus items in the Test
Booklet, vou have to fill in some particulars in the Answer Sheel as per instructions sent to you
with your Admission Certificate,

After you have completed filling in all your responses on the Answer Sheect and the examination
has concluded, you should hand over to the Invigilatar only the Answer Sheet. You are permitted
to take away wilh you the Test Booklet,

. Bheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers ;
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

{i) There are four alternatives for the answer to every question, For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
guestion will be deducted as penalty,

{ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of

the given answers happens to be correct and there will be same penalty as above to that
fuestion.

(iii) If a question is left blank, i.c., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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1.

2.

3.

4.

5.

Which one of the following pases is
released maosily [rom landnlls in urban
areas?

jaj Nitrogen
{b) Hwdrogen
{e)  Methane
fid] O=xygen

Which one of the following is most
sensitive to environmental change?

fra)  Armphibian
{h] Reptile

fe) Mammal
fdj Insect

Which one of the llowing is the largest
source of clectricity in India?

fa] Hydropower plants
fb)  MNuclear power plants
fol  Thermal power plants
fd] Wind enecrgy

The HIV virus weakens the immunily of a
person because il destroyvs

fa) mast cells
it} platelets

fo}  erythrooytes
fidi  lymphooyios

Which one of the following air pollutants
combines with the hasmoglobin of
human blood and reduces its oxvgen-
carrying capacity, leading to suffocation
and may cauze even death?

jal  Chlorolluorocarbon
fhj Fly ash

fe)  Carbon monoxide
fd) Sulphur dioxide

SDC-5-SND/1A

An  irregular  mode of reproduction
resulting in the development of an
embrye without fertilization is called

1. Parthenogenesis
2.  Apogamy
3. Bporophytic budding

Select the correcl answer using the code
Eiven below.

fa) 1 only

{b} 2 only

fe] 2 and 3 only
fd) 1, 2 and 3

7. Which one of the following is neot an

alletrope of carban?
fa} Coal

{iz}  Diameond

fe}  Graphite

fell Graphcne

B. In paper manufacturing, depumming of

the raw material is done using
fo)  sulphuric acid

fb)  Bleaching powder

fc]  caustic soda

fdl nitric acid

9. Dolomite powder is applied m somc

agricultural lands. The purpose of
applyving it is to

fa) increase the pH of the soil
fb) lower the pH of the soil

fe) increase the phosphorus content
of the soil

fd) increase the nitrogen content
al the soil
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1, Tefafes 4 A S9-d s Tm oweh & W
sa-y0a el (Fsfre) § aiftew Fered
B7
fa) TTEEA
(b} TR
fe) WA
(d) i

2. Frfafas # % =F-w = ooEeh ofed &
afa waifue weesia #7
fa) I
(b wlT
fe) TEATET
(d) e

3. Fefifiga § 4 $R-m wF gmm 4 gy =
T 51 |E 87
(a) A-Ta=rel w9
{b) =i fimret 9o
je)  AM-TRp W
(d) wEA FE -

4, HIV Fu Bl wafs 6 Dusma BFR wEn
N 0 57
() TS iR F TR e
(b) e (FeeR) F e w5
() T F1 TR FE
() TR T TE e

5. Fe=fafiad 3 8 $9-9 & A1g ygus 4E
& dreifEE 5 e i e sl
94 ol mh =eE o sy $aan §, faed
AR BT § 3 ue WA wwd) &7
TR it e T E e
(b) g W
fr) e HiHTIgE
(d) HeH, ST3HIGHEE

SNC-S SNDJ1A

6. W | um #Ahmfa @, e giummesy

i & B @ oqu = farw € R, ¥

FHEeTl 87

1. Al (MEHREE)

2. st ()

3. Hem-wEpEm gFen  (WRenw
afem)

Frar fow 5= = w@ w Al T gig

fa) a1

(b) 2

fe) e 2 20 3

(d 1,233

7. et § ¥ ®E-A1 TF wEA R 9%

7t 27

(a) I

(b) T

fc) Terfas (Iemge)
() b

8. TnE Tmm #, %= A w1 =i s mEm

H ey = o F

() TEEE A

b) e

{e) =TEF HEl (Fifw dEn)
() gle s

o. BremTe o = WM T = wf & fe

wren | 5= T % SR g &7
(a) T F pH = TG

(b) TE1H pH H HH A

fc) HE1 H BIERRE HEH Sl EgE
(d) TR I AL T B AGH]

[P.T. O,
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10. Deficiency of fluoride leads to which one

of the following health problems?
jm) Tooth caries

(b}  Mottling of tooth

{e]  Bending of bones

(d] Stiflening of joints

11. Excessive use of which of the following

fertilizers may be responsible for the
presence of a  loxic  substEnee  in
groundwater?

et Nitrogen
{b] Pheaphate anly
jc} Potassium only

fd} Phosphate and potassium

12. Which one of the following elements

does nmot form solid  hydrogen
carbonate?

i) Sodium
{b] Potasaium
e} Cacsium

{d} Lithium

- 13. According to Census 2011, which one of

the following is the correct sequence of
States in decreasing order of thelr total
size of population?

() Kerala, Jharkhand, Assam, Punjab
() Jharkhand, Kerala, Assam, Punjab
) Kerala, Jharkhand, Punjab, Assam

e} Jharkhand, Kerala, Funjab, Asaam

SDC-5-5NDf1A
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14. With reference to earthiuakes, which of

the Following statements are correct?

1. Earthgquakes largelv occur along
the converging plate boundaries.,

2. Point of origin of earthqualke in
lithosphere is kmown as focus/
hypocentre.

3.  Intensity of sarthguake decreases
with distance from the epicentre.

4. Epicentre of earthquake always
remains over continents only.

Select the correct answer using the code
giver: below.

f) 1 and 2 only
fB) 1,2 and 3
fo} 2 and 3 only
fd} 1 and 4

18. Which of the following pairs of Indian

State and tribal population are correct?
1. Madhya Pradesh : Largest tribal

population
2. Mizoram : Highest percentage of

tribal population out of the total
population of the State

3. Chhattisgarh : Second largest
tribal population after Madhya
Pradesh

4.  Arunachal Pradesh : Second highest
percentage of tribal population
out of the total population of the
State after Mizeram

Select the correct answer using the cods
given below.

fa) 1 and 2 only
fh) 2 and 4 only
fed 1,2 and 3
fd) 2,3 and 4
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10. Frefefas & & #a-ft T mEnm WA 14, v % w0 4, fefdfas § 3 SR8 =R

wegeilgs ) F4 % Hnw 9’7
fa) = H

(b} G W FE

fc) s = =

(d) S A

11, Rofafian @ 8§ § o w w1 s

EL O e e 1 o e el e A 2
¥ fom Fordier & @ 27

(a) =TT

(b} =S Bl

fe) Fam MERER

() FTERZ SR grefEmm

12, Frafafigs o= 3§ 4 SW-T W, 39 TEEEA

T2 T A BT
(c) HifEem
b) T
fc) wfsEm
fd) wiEEs

13. 2011 € w9 ¥ pow, Fefafm 4 9

Fa-w AR T & IR 3 eEE %
Heo g s o Hdl 7

fa) HE, TEE, FHH, T
(b) WHETS, FA, FEH, T
fc) =TE, FREVE, THE, HAY

(d) TS, e, FeE, A

SDC-5-85ND/1A

wi #7
1. ey wferige: sedl 9l
] % FAEEE A 8

2, wEAvEA H 4F H IEW W g
T FR AT AT

3. e A FEw wHiidE § 2k A
2z 2|

4, wwH % afudz o4 medd wm
eIy

A= fm g2 o = ad we gfi
() w1 AR 2

m 1, 23M3

fc) ¥a@A2 3R 3

(d) 134

15. 9NAW 799 3R S=edE sAaen F et

T H ®H-A 2wt 37

1, TPFEET : WA S s

2. ﬁﬁﬁmzmﬁfﬁmﬁm
FEE F1 HiwEes g

4.  SHEMMEE WLR : TUERE % W Usg f
Fol wEE W 4§ e sEEE 6

arfiran ufesree 3 AR 7H0 U=
3 fig 70 5 1 W = ER TR IR
fa) FAA 1 3N 2
() e 2 ol 4
(@ 1,2%%3
(d) 2,334
[P.T.O.
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16. The spring constant of a spring depends

on its
fa) length only
(&) material cnly

(e
()

length and its diameter

thickness, its diameter and its
material

17. In the gamma decay of a nucleus

fea}

fb)

(c]

(d)

18. In a bipolar junction transistor
(g) all the three regions (the emitter,
the base and the collectar) have
equal concentrations of impurity
{b) the emitter has the least concen-
tration of mpurity
{c) the collector has the least concen-
tration of impurity
{dj the base has the least concen-
tration of impurity
19, The pressure exerted by a 760 mm
column of mercury at 0 °C iz knawn as
fa) L pascal
{B) 1 atmosphere
fe 1 bar
fd) 1 poise
SOC-5-SNDf1A - 6

the mass number of the nucleus
changes whereas its  atomic
number doecs not change

the mass numher of the nucleus
does not change whereas its atomic
numhber changes

both the mass number and the
atomic number of the nucleus
change

neither the mass number nor the
atomic mnumber of the nucleus
changes

20, Which one of the following physical

quantitics has the same dimensions as
that of Planck's constant h?

fa) Linear momentum
fb}  Angular momenturm
fe) Force

fd} Totential energy

21. Which one of the following statements is

not correct?

{a] The response of the ear o
sound of increasing intensity is
approximately logarithmic,

fb) The sensitivity of the human ear
does not vary with the frequency of
the sound.

fc) When two or more waves
traverse the same medium, the
dizplacement of any element of the
medium is the algebraic sum of
the displacements due to each
wave,

fd} Longitudinal waves can travel in all
media—solids, liquids and gases.

22. Which one of the following hormones is

esscntial for the uptake of glucose by
cells in the human body?

(@ GH
(B} TSH
foi  Insulin

(d) Cortisol
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16. Tl wAr | wAHl EEs fra om B 20. T=fafan fes ot 4 € frm v 6 f&and
oA 2F welisk i b sl & qum 9l 87
() SHEE S g gl (@) R
e IH ae W
(b HF U o -
fc] T wrels SR IEE AH W
(d) T A, I = i I v W ek
fd) et ==

17. Tl s & e a8 4 den 87

(g A e TEedl € W=

! 21. Tr=tafan @ @ =9-w o wem w1 T8 87
T THIY] S T Age

(b) i fi z=mE-TE T wEeE @ fﬂJ%ﬁlﬁﬁ"lﬂﬁ.‘rﬁzﬁﬂ’mﬁT%nﬁlmﬁ
SR T THI-FAIE FEe €| T?:ﬁfﬁﬂ;‘ T W (FhRe)
fe) TfiEE ) FEmE-gEn SN wE-EE '
TH1 TZe B {b) THE =R N FEEAeT E w5 oemah
() A7 A R ger-aE e ¥ e &y A7 |sedl B

A ¢ YA -FHTF TR ¢ fe) W E W E A AR 0T TS A oAEm T

Tt &, @ 38 W & T s W

18. ot fayger wif gifimen 3 o @ 87 ferewraa s Wl i wi g Frendt %
() TR A (TEeE, AW i wmEw) # affaite @Rl & At A B
% A e Fia o 2 fc) srEe qul wdl qrei—ei, w9 e iy
(b) Teees B Hyfg ) Se9aH TiEa el B i e Al 1
fo) duies 7 wgpfe € seyaa wEa T
(d) g 3 amyfy 4 wreves wEE B R 22. frfafigs § @ #9-w w09, oE R 3§
wiimERe TO wEE 6 smom w fg
19. 0°C T 9 & 760 mm FicH g1 @ 49l aifamd 77
T T TRl B @ e
fa) 1 =R 5
" (bj =lo Te YHeo
) 1 T
fe) 140 fc) T
(dj 1%r= (d) Fieata
SDC-5-5ND/1A 7 [P T. O,
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23. Which of the following cells do naot 26. Match List-I with List-Il and select the
contain nucleus? correct answer using the code given
1. Root hair cells below the Lista :
2. Red bBlood cells Listt ListI
3. Plateleta {Element} (Propertyy Use)
4. Monocytes A Mg 1. Gives red colour to flame

Selecl the correct answer using the cade

ks Blow B. Ca 3. Sulphate compound used

in medicine to examine the
alimentary canal of a

fo) 1 only
patient
fb) 2 and 3 only .

. Br 3. Traps the enérgy of sunlight
fe) 1,2 and 4 in photosynthesis
{d]l 2,3 and 4 I Ba 4. Contrel of muscle

contraction
24, Biological catalysts are protein molecules

which e

1. speed up a chemical reaction jal A [E] o D
2. remain unchanged after reaction 2 % h .
3. function optimally et 37 °C fb} A B 2 D
4. do not have an enzymatic activity 2 1 4 3
Select the correct answer using the code fe) A B C D
given below. 3 4 1 2
fri} 1 only fedj A B C D
fb) 1,2 and 3 3 : ! ¥

(¢ Qand S only 27. Which one of the following statements is

fd) 1,3 and 4 correct?

fa) The oxidation number for hydrogen
Z6. ‘Altitude sickness’ is caused at high iz always zero.
altitude due to '
fb) The oxidation number for hydrogen

fa) high parlial pressure of oxygen i ety +1,

e} B i ; - s
(b} low partial pressure of oxygen fe} The oxidation number for hydrogen

fel  low level of haemoglobin is always =1
fd} high partial pressure of carbon e} Hydrogen can have more than one
dioxide oxidation number.
—  SDC.SSNDfIA 8 g e i
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23. F=fefan 7 # o ifiemet 3 ofie o 26. FE-1 F g | gafen Fifag @ gl

w7 4= fay 7 e = W w w IE gh
1. HE Im wifE o
2. e T i -1 -
3 “ﬁ gt (7e) (o /e
4, W{Tﬁ:ﬁﬂmg} A, Mg 1, W{ﬂiﬁﬁﬁﬂ%m%
B. Ca 2. Tafirr B weiRz DiirE =1 3Em
A o S e 7 1 STEC AT R
fa] A 1 Eoc il
(b) a7 2 3R 3 ¢ Bi 3. ye-gyerm # wF & ywm
c) 1,2 3R 4 ﬁﬁ‘ M%
i aaion D. Ba 4, TS HEA w A
'@5:
24, AfF I0TE, W A EE E, W TR
1. Wb aufFm e e 2 -1 1 3
2. WUEN % =E FuiEod wd B W A B € D
3. 37T°CW TETA &1 #l0 § 2 1 4 3
4, e whEEm T wwi gt A B € D
412 fiy ™ %2 = W@ W= O aw g L L #
(@) 1 [ A B C D
3 1 4 2
b 1,238r3
(c) w2 ¥ 3 27. F=ffag @ & S9-w1 s wya ad 27
(@) 1,34 (a) %ﬁgﬁ%mﬂﬁaﬁwaﬁﬁﬂ?ﬁ
|
25. ﬂjﬂm wiYm $TE W AT 2| $EE i R s
' R
(a) ST F 3= A 46 T ———
FFEAEL] s 3T |
(b} SAFE T = A = e E’I:n%l
(o, ORI S Wt S (d) TEESE F UF ¥ afm afehEm s
(d) FTE SRS T T A Ta T Fd B
SDC-S-SND/1A 9 [P.T. 0.
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28. Incase ofa standard hydrogen slectrode 31. If the latitude and lengitudinal extent
of an Indian State/UT is 15374800 N

fri}  abaclute  electrode potential @ is to 14°53°157 N and 74°20°13°° E o

not zero 74°40°33'° L, then which one of the
(b}  absolute electrode polential 1s zero following is that State/UT?
{cf both absolute and standard fa) Puducherry

electrode potential values are zero

{d] electrode potential is zero only al (b} Chandigarh

25°C
fe)] Goa
29. The elemental compesition of an adult {d) Delhi

human body by mass is

fa} C>0>H>N , , )
32. Match List-] with List-II and select the

fb) O=C=H=N correct answer using the code given
below the Li :
f5) N>C>H>0 sl
fd] N>C>Q=»H List-1 List-if
(Ratway Zone) (Hemclgquerrters)
30. With regard to water transportation in A. North Eastern Railway 1. Kolkata
India, which of the following statemenls
are correct? B. Easl Central Railway 2. Bilaspur
1. Headguarters of Central .lnlanj:l ¢. South Fast Central 3. ‘Majipur
Water Transport Corporation is Ralhiai
lacated at Delhi. .
2. Headquarters of Inland Waterways D. South Eastern 4. Gorakhpur
Authority of India is located at Railway
Noida.
3. HNational Inland Navigation Code |

Institute is located at Kolkata.

4.  First National Inland Waterway was

fal A B C D
: 4 @ B
between Haldia and Allahabad.

=

Select the correct answer using the code (B A B cC ]
given helow, 1 3 2 -
fa 1 and 2 only

el A B C D
(b) 2 and 3 1 2 3 4

2 and 4 1
fc) an only @ A B o 5
3

fdl 1, 2 and 4 4

__SDC-S-SND/1A 10
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28, U UG €SN Te9EIE & W # 31. IR e wdm Te/As i wm oW
g A O RN 15°48°00°° N

(a) Frafa st o 3o 7 € 2 4 14°53‘15'N 3R T74°20°13"E
(b) Tty sere e o B B 74°40°33" E ®, M Frafafa 8 % =8 7=/
ez, WITH e FE-E T
(o) Tty &R wew dF WER F ToEEE .
EECER i Rinl. (o) TG
e favm w25 T #
(d) serERE faa 25 “C W T[4 B0 ¢ ) =
29. TF IYER GFT THA F1 AifEE 29 FEE F fc) e
Fgan i v g R
fo C=0=H=N ) T
fh O=C>H=N
1 32. TH-1 % g1 F goke Fif o gl H
(8 N>C>H>0 Fr R I 2 A Wi AR ) s gR
{d) N=>C=0z=]II
eI HA-11
30, Y i W@ wEer % waw § Ffuia § 9 (3@ wvEs) (YzaTea)
-8 Ford W 87 A, Tt 1. il
1. wm dndiim ww giEes Fem @ B, w-oam i M
T gl | e B [
2 il sETE R v C. m-gwat® 3. R
e e § i D. sf-gE @ 4. WA
3, T HEasig AEEEE EENR EEE
i fEm i e
4. wyn TPm siEesim S wfeem s b B £ D
FeTRrER o i 4 2 3 1
= w1 He W w5 = e gig) () A B C D
1 4 9 3
(a) FEe 1 ¥R 2
) 2 33 : # ? g g 4D
fc} AW 2 31 4
[ A B € D
fl) 1, 2 34 4 3 2 1
SDC-S-SND/1A 11 [P.T. 0.

Downloaded From: http://iasexamportal.com



Downloaded From: http://iasexamportal.com

33. Which of the following statements
conecerning atmosphere of the Earth are
correct?

1. In stratosphers, ternperature
inereages with altitude,

2, In mesosphere, temperature
decreases with altitude.

3. The lowest temperature of the
atmosphere is recorded in the
upper part of mesosphere,

4. Tropopause is an isothermal zone,

Select the correct answer using the code
given below,

f@) 1 and 2 only
{bp 1, 2 and 3 only
el 3 and 4 enly
fdl 1,2, 3 and 4

34. Match List-T with List-1I and select the
correct answer using the code given
below the Lists ;

List=l List=iT
{Place] fmdustryl
A, Bongaigaon 1. Paper
B. Koraput 2, Machine tools
. Pinjorc 3. Adrcraft
D, Sirpur 4, Petrochernical
Code :
fa) A B C D
a4 2 3 1
B A B C D
4 3 2 1
fed A B C o
1 2 3 4
{dl A B C D
1 3 2 4
SDC-5-SNDf1A

35. Which onec of the following is not a
tributary af the river Ganga?

{al Son
()  Mahananda
{c) Teesta

{d} Sharada

36. Which one of the following pairs of lakes
is connected by Soo Canal?

fa}  Buperior and Michigan
{b) Supericr and IHuron
fri  Huron and Ontario

jd} Huron and Erie

37. In total internal reflection, the light
travels from '

ja) rarer o denser medium and it
occurs with no loss of intensity

b} denser to rarer medium and it
ocours with no loss of intensity

fcj rarer to denser medium and it
occurs with less of intensity

{di denser to rarer medium and it
occurs with loss of intensity

38. The energy of a photon, whoss
momentum is 10 MeV /e, where ¢ is the
speed of light, is given by

(m}) 10 MeV
fb) 100 MeV
e} 1 MeV
fd] 01 MeV
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33, 7ef w SgEvEe % owEw § Fefafas 8@ 35. f=fefigs § 4 #a-d e o

-8 %o H5E BT T B
I, wHamTEA B FErE R oEe STee (@) EH
EcoiRd
(h) TEF=EI

negnvEd 1 =0 F WY A9EE 926 2
3. HEAER W AAA9 qaH HemvEe fe) e

Fdi T # 39 T amar #) () HITET
4, argEE (i) U e SE 20

= o e e W e EEl I My 36. Frefiafirs # & #hm-an ehefl =1 < = g

a1 ok
frz} %r-_c'al ;E;T (@) A
b) ¥a@ 1, 2 #n 3
O (b Hfafe s g
jo) TR 3 HR 4 )
fe) T SR sATE
(@ 1,2, 3304
(d) T R
34, -1 F FHT A GEREW FG A7 g |
1 o o oz 0wl = wd I gfe 37. yif siaiE wEd | vEm |
(o) TaE | wF wem ¥ a8 s diam
o1 -1 = i F fa ww d 3
(o) T (b) W R mem & w4 o b
A ddts 1. = =1 & & fae W w R
B. M 2. I S (c) e & wow memm # owmn e dfmen
c. T 3. =EH 1 af % W wm A
D. fag 4. erEm (k) (d) o B fere wem A S g el digm
A FE Ty ITmEmE
e
@ A B € D 38. TF WER, T 99 10 MeVice B, 5E o
4 2 3 1 THM I B, I Sl [ g W
(b} A B s D 2 &7
+ 3 2 1 (a) 10 MeV
ad 2 & 3 (b) 100 MeV
i @ & W
(d A B c D fc) 1 MeV
1 - ! (d 01 MeV
SDC-S-SND/1A 13 [P.T. O
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329, Liguids and gases never show 42Z. Match Lizt=1 wilth List-II and select the
y ; correct answer using the code given
diamagnetic property

(@) & ke below the Lists :

(k) paramagnetic properiy

: List- List-IT
(o) ferromagnetic proper
¥ {Ocean Current) {Country)
(d] electromagnetic property
Agulhaa Current 1, Peru

40. Light travels in a straight line [rectilinear

H haldt ; i
propagation of light), Thiz statement I CATR I L AR

o 0 o® »

does hold il the medium of travel for Labrador Current 3. Argentina
light i=
{a} of variable refractive index Reiend Coment % Camada,
{B} made up of slabz of different
refractive indices Code :
fe) homogeneous and transparent @ A B o b
fd)  inhomogenesous and transparent 3 4 1 2
41, Match List-I with List-Il and select the {b) A B & D
correct answer using the code given 2 1 4 |
below the Lists @
List-I List-IT g A B C D
{Strait) (Water Body) 3 1 4 12
A, Strait of Hormuz 1. Java Sea
. d) A B C D
B, Strait of 2. Andaman Sea fd) 9 4 1 3
Bab-el-Mandeb
C. Strait of Malacca 3. Red Sea
D. Strait of Sunda 4. Guif of Persla 43. Which one of the following fishing
Fada s banks is located off the coast of the
United Kinpdom?
fa) A B C D
* 2 3 1 {a) Great Fisher Bank
) A B C D
1 3 2 4 () Grand Banks
fo) A R C D
1 2 3 4 fc} Dogger Bank
fd) A B C B
4 3 2 1 fd) Reed Bank
—S5PE-8-8NDf 1A — : 14
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390, @1 ¥t Wt ot 42. ddi-1 # -1 & gafaa Fifm @R gfeE F
(@) g T 8 87 £ T R R A R
(b ST R E i1 eI
(c) wm-grashia o T 2§ (*reTaTTrT ) (Fm)
(d) - o = A A. EETH EE 1. %
B. gHdles Ul 2, & sTfieR
40, WM i T 3 Sem ¥ (9w wE
Fem) | TR HUR WEE 2, af wEm ¥ fan C. PR = 3. S
T ) A D, HiFeE Y 4, FAlE
fa) TRE AR F A
e ;

(b Tafirm sadarR 61 i = a8

ic) mmmﬁﬁﬁ fal A JE] C D

(d) sen &R e 8

(/1 & B € D
2

41, T-1 F gh-n & Al Sk s gl %
R R e w1 I g

e}/ A B € D
HeE-1 HEi-11 a 1 4 o2
(FrerEnEneT) (=rerTera)
A, AT SdgHERE 1. S EH @ A B C D
2 & 1 3
B. dld-Ur-Hr48 SeEAEAs 2. STEAF I
C. TEIE TeleHER 3. e W
D. =1 FeisHEs 4. A 1w 43, Frfifiga # @ - 7% weEm 4w i
forrmen & = fom 87
ETE
fa) A B C D
e & 5 ; (a) 2 frm =
i A B C D
1 § 8 4 fb) I8 S
e/ 4 B C D .
1. 2 & 4 fc) ST e
@A B € D
4 3 2 1 fd) e =%
SDC-S-SND/1A 15 [P.T.O.
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44, Match List-] with List-II and select the 46, Which one of the following statements is
not correct?

correct answer using the code given
below the Lists :

i - {a) Position of the Sun, Earth and
List List-I Mpon in a straight line of 180°
PR Sty SERE) angle 15 known as s ;
YEYEY.
A. Salpura 1. Maharashtra
B. Dhuvaran 2. Uttarakhand (®) Sj'z.}*gy SerpRicEm SRR Wolar
eclipse.
C. Tanakpur 3. Gujarat
D. Dabhol 4. Madhva Pradesh fc) S}rzygy opposition causes lunar
eclipse,
Cereles -
fd) Syzygy conjunction cccurs al the
fal A B [ D time of perihelion only.
! 3 a 1
by A B C D
1 3 2 4 47. Which one of the following is not related
t ind erosi
© A N o D o wind erosion?
i @ 3 4 _
fal Wind gap
fd) A B & D
4 2 3 1 fb} Zeugen
45, Which of the following statements fe) Dreikanter
regarding soil is/are correct?
1. Alluvial soils are rich in nitrogen {d] Demoiselle
content,
2.  Black soils are rich in iron and lime
but deficient in nitrogen. 48. Which one of the following is correct?
3. Laterite soils are rich in iron and
aluminium but deficient in nitrogen fa) Guindy National Park is known for

and potassium,

Select the correct answer using the code
given helow.

f] 1 and 2 only

B 3 only
{o) 2 and 3 only

@ 1,2 and 3

) SDC-E-—-SND; 1A 16
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(b}

fc)

(cj

tiger reserve.

Namdapha National Park is meant
for lion conservation.

Jaldapara is a biosphere reserve,

Rann of Kutch is a Wild Ass
Sanctuarv.
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a4, T F w0 & gafn Fifm e gfEl

i fiam g W WM F A I g
He-1 THE-11
(Terege, v=) (Tr=)
A, HOgE 1. FEME
B. 2. THRETE
C. TG 3. T
D. E4iE 4, wHLg W
T2
@ A B € D
4 3 2 1
A B8 R
¥ 5§ 2 4
f# A B € D
1 2 3 4
i A B C D
g B 3 1

45, wa ¥ FEy # Fefaies § @ $R-A/3 5
H B/RT

I
2.

stelle gan Az # e A |
Frefl T wie o S A wE A A
g AR B E e )

denge el S v ightem 8 g
et # wrg g AR iR @ i
et #1

1 o 7 g = wEm = o I i

fa)
(b)
fc)
(d}

S 1 3 2
wEA 3
F9m 2 @t 3
1, 2 3w 3

SDC-5-SHND/1A
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46, Tr=fesfiae § B =9-m TF w5 &0 6 87
(@ TE, 9 i = A 1800 Fm f T
@it W f @l gR-RER e
(Fesfifar) Fendl 21

(b) Bl fm @R e @
Eare i

(c) F-faf fem REen Smmer @

o 2|

(@ T-FgR fag e ded SR F
9 Bl B

47, Ffaigg 8 & SW-w us gy awE d
Haiftra i 27
(e) o= fam
(b) T
fe) T
() Fermae (derge)

4g. Frafafaa & @ #iF-91 us 4l 7

(a) TUE e ok, e fed ¥ fe s
GG

(b) e AvEE T, IR wem & fee )
fc) wEMTl U SEqvEd fred

(d} =5 T UE 0 T TIEEE R

[P.T. 0.
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49, Which one of the following statements

concerning  the natural vegetation of
India iz not correct?

fa) Bal is found in moist deciduous
forests.

{b) Casuarina is largely found along
the ceoastal region of Tamil Nadu,

fc) Deodar is a coniferous species
of tree.

fd) Shola forests arc found mainly on
the upper reaches of Himalaya.

50. Which one of the following stalements

concerning research centres in India is
not correct?

ful  Rajiv Gandhi Centre for
Bintechnalogy is located at Kolkata,

(B Central Arid Zone EResearch
Institute is located at Jadhpur,

fc) Centre for Social Forestry and
Eco-Eechabilitation is  located at
Allahabad,

{d) Institute of Forest Productivity is
located at Ranchi,

18
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Directions :

The following three (3) items consist of two
statements, Statement | and Statement [L
Examine these two statements carefully and
aelect the correct answer using the code given
below,

Codde

fa) Both the statements are
individually true and Statement II
is the correct explanation of
Statement [

{b) Both the statements Hare
individually trus but Statement II
is mot the correct explanation of
Statement |

fo)  Statement] is true but Statement 11
s false

fi) Statement I is false but Statermnent I
is true

51. Statement T :
The Pahi-kashta peasanis were

nen-resident  eultivators  cultivating
lands on a contractual basis,

Statement II ;

The Pahi-kashta peasants worked
under the temptation of favourable
terms of revenue or the compulsion of
economic disirass.

52. Statement I ;

The Zamindars were an exploitative
class in Mughal India.

Statement II :

The Zamindars often received the
support of the peasantry in a large
number of agrarian uprisings in North
India in the seventeenth century,

Downloaded From: http://iasexamportal.com
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g9. FefufEs @@ § 8 S9-w % wwm fit
b iEnnEdeE R i A R R G

fa) TTE S TAGE A B TR S f

(b) i siftERTE: afterrg ¥ wdE g9
HIY-Hg TET 1

(o) EEER, sl Wi W o g R

(d) Hien 79 e e & F 9 9

Einkl

50. F=fafias wu= § A FHE-W UF WET &

SRR 5] % e R

ja) TETE T S AR (amREE)
5, Sreeern 7 fem #)

(b) FEE Y B STEUE TR WA
e &

fc) T i st mEEw-TEE
geeEmE d i 2

(d) =R el e U= F R R

SDC-5-SNII/1A
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fordm -

frafafEm dt (3) Tt A @ w2, w1 AR
U= 11, A T FeE H AEEEE T Fi s
Tt e T 2 T e e e g

T2

(o) T WA wfE: we R, A #Ed I,
Fu 1 71 Hel T B

(b) B TR =EA: @ 8, g e I,
FuF [ =1 Tt T e R

(c) w1 B, fog w9 1 A R

(d) w1 s d, g A nEE R

51. A 1:

‘ot Feam sifan fREm A, 51 o
(\fmn) F anem w == =id 9

A 10

‘gidl-wya’ fRaEl T oEEe T w6
W A o aidE dwe &) fagwa § ®m
TFm

52, 891
W WG A SETE T e =
HI 11 «

el warss # I wia # wifent w7 v
4 TEm 7 F wEd fGEd Bee oW
Hrel e

[P.T.O.
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B3. Siatement T ; 57. On 26th November, 1949, which of the
King Ashoka  abolished capital following provisions of the Constitution
punishment and disbanded his army. of India came into effect?

Statement 1T : 1. Citizenship
Alter Kalinga War, Ashoka was 2. Electionsa
remorseful and became a Buddhist. 3.  Provisional Parliament

4,  Fund i
84. Which one of the following does not Alaenbel Rights

signify a battle tank? Select the correct answer using the code
given below.

ja} T-55
{b) T-155 fa) 2, 3 and 4
fc) T-72 () 1,2 and 3
(d) T-90
{2} 1 and 3 only
55. Which of the following Gods are also (d} 1 and 2 only

known as Lokapalas or the Guardians of
the Universe?

58. Which f rth i
fal Yama, Indra, Varuna and Kubera ich of the following statements

regarding the Constituent Assembly of
fb)  Indra, Varuna, Skanda and Kubera India isfare correct?

fo) Indra, Varuna, Yama and Brahma 1. The Agsembly  was  elecled
indirectly by the members of the

d) Yama, Shiva, Kubera and In T e :
(el ' el Provincial Legislative Assemblies.

2, The electivns were held on the

56. Which among the following Acts ] i
basis of Universal Adult Franchise,

were repealed by Article 3895 of the

Constitution of India? 3. The scheme of election was laid

1. The Government of India Act, 1935 down by the Cabinet Delegation.

2. TheIndian Independence Act, 1947 4. The distribution of seats was done

3, The Abolition of Privy Council on the basis of the Mountbatten
Jurisdiction Act, 1949 Flan,

4. The Government of India Act, 1919 Select the correct answer using the code

Select the correct answer using the code given helow.
givenn below,
faj 1 and 2 only

fB) 1 and 3 anly

fal 1 only

f} 1, 2 and 3

fe) 1,2 and 3 only fe) 2 and 4
fd) 1,2 3 and 4 fd] 1 and 2 only
SDC-S-SND/1A 20 e e
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B3, =¥ :
TEE T A gegeve w1 wa w fn ofn
2 T R A AR TR
w0

wem g% % naE wEE quE R e
o T

54. Pre=faflmn § @ F9-m o6 @ &F A A
wTian 87
fa) T-55
(b} T-155
o) T-72
(d) T-90

55. ¢ 9AEM d ¥ Fe e @ mme (Ba)
% O & B 0 off S S BT

(a) TH, T3, 950 & g
L) ¥R, T, e AR FH
fe) =, w0, An 0w
[d) T, B, g s R

56. fimiafar § @ fF wfufedl i W@ #
daun % sg=as 395 % g Frem fE
T grt
1. e @R AffEE, 1935
2. AR TEEE AYEEE, 1947
5, Tufy wEfw SaiEn @9 e,

1949

4, A W @lvfEm, 1019

i faw 2 w1 wEe R OEE IR
fa) a1 #HE 2

(b} FEH 1 L3

) 1, 2803

@ 1,2, 34

SDC-5-SND/1A
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§7. 26 WErE{, 1040 FH ¥WHA * HEME ¥

Ta=tefiag # | FE-4 qEae |0 ey
1, =rTiEm
2, THates

4, wfes s

A fo o g2 w0 W@ = wE I g
fa) 2,3 ¥4

(b)) 1,233

fc) ¥ 1 #n 3

fd) FAE 1 &R 2

58. v Fi dfaum a % =n § fefaflas 4 @

- e Tl 2R

1. widm FuE wws & wewl 5 ST
w4 4 A %1 =99 T o)

2. WEYIE TR AOIHRR R SdE
T fem e A

3. T F =W o B0 2
T TR T 9

4, i w1 wilay gdede] 9 F YR
i T Ay

1 fam g2 o1 gl = EE SR g
ja) ¥=E 1

(b} 1, 2R3

e 2 ¥4

) FEE 1 H 3

[P.T.O.

Downloaded From: http://iasexamportal.com



Downloaded From: http://iasexamportal.com

59. Which one of the following statements is
not corrcct?

ftif Centre for Science and Environment

(B

(]

(d)

in a recent study found that a
number of commonly awvailable
brands of prepackaged Threads
tested  positive  for  potassium
bromate and potassium iodatle.

Food Salely and Standards
Aunthority of India recommended
to the Health Ministry to remove
potassium bromate from the list of
permissible food additives.

The Union Government banned the
uae of potassium bhromate as a food
additive on the basis of the above
recomimendation,

Potagssium bromate is a neuroloxin.,

60. Which of the following voted for Bresxit
in June 20167

(@)

(b

(e}

(d)

England and Scotland

England and Wales

Scotland and Northern Ireland

Wales and Northern Ireland

SDC-5-SND/f1A
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61. Which one of the following statements
about reusable space vehicle of ISRO is
not correct?

(a)

(b)

(c]

(d)

In June 2016, ISRO successfully
launched India’s first reusable
space vehicle.

The space vehicle was launched
from Satish Dhawan Space Centre
at Sriharikota in Andhra Pradesh.

The reusable  launch  wehicle
climbed to a height of 65 km before
automatically steering back for
landing.

The vehicle was initially boosted by
a rocket that contained liguid fuel.

62. Which one of the following statements is
not correct?

(@)

(B)

(c}

fct)

BrahMos is a supersonic cruise
missile made by India and Russian
Federation, :

The name BrahMos came from two
rivers, Brahmaputra of Iridia and
Maoskva of Rusaia,

Indian military =cicntists  were
capable of integrating BrahMos

cruise missile with Sukhoi-30
MEKI fighter.
Defenice Research and

Development Organization is the
manufaclurer of Sukheoi-30 MKI
fighter,

http://iasexamportal.com
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59, Rl At § F F9-m uF od 78 87 61. TAU (ISRO) % T Hake =g & =1 H

() TaEm @k valaw ¥ 50 7a @ 3 fag
Mo T I A 9R T T T iR
T e (U9) % Amdn g 39 T
d¢t &) it # Jiefimm dEe sl defrm
22 F o qitstEs T )

(b) WHA™ EE WET T T ik q
TR T AR g W Trefim
FEE F1 R R Ao W waEy
1

e T wEA S M W R TER A
A & ' A uRfimm wEe
T w1 whmi

() dfimm e uw AR (FelfE)
£1

fi=ififag # 9 FR-m o wum w7

() 3 2016 A, 9@ F wgM WA
At TEA FOISRO A HbEdgdH
g T

(b) WE IEHY A Y WEW AR %
W uEe aie e d el R
=1 91

fc) AN 2 E=Ten §9 4 @wE THEE
'ﬁﬁ'ﬂﬁgﬁ:ﬂﬁﬁﬁﬁﬂ]ﬁﬁﬁkm‘ﬁ
S T O T A

(d) A Al w1 A wE e T
T AW FEET T YT

62, F=fafia § 4 =m-m 7% w7 w20

60, [ 2016 ¥ F=fefaa # & fFa-foem 3 wfEe
(Brexit) % fom @ fEm?

() s N wizeE

(b) FetE &R FH

(c) EHizs 3 I ARAAE
) S8 it 30 FEE

SDC-3-8ND /1A 23
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(a) FEW, W@ HREH T () T
fafifa % vmafE g9 fee

(b) W Am, 4 AR, wid R EEgE i
w4 oI AR o AT W T T R

(o) WS &= At e we e
ER-30 UHe %o Hgo YaF F WY
e w1 e ¥

(d) TEE-30 We e ARe Yok w1 Fuim
T4 FAETR ST TERE HEA ¢
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63. Which one ol the following sources tells
us about women protesting against
the infidelity of their hushands or the
neglect of the wife and children by the
male head of the househald?

faj The Kitab-ul-Hind

{b) Documents belonging to the Village
FPanchavats of Rajasthan, Gujarat
and Maharashtra

fel  Seulptures from Mandor

{d} The Aini-Akbari of Abul Fazl

64. The All India Census was
1. Ffrst attempted in 1872
2. repularly undertaken since 1881

3. always undertaken as a five-year
EXETCIZE

Zelect the correct answer using the code
given below.

fa 1 only

fb) 2 and 3 only

fej 1 and 2 only

fdl 1, 2and 3

SDC-5-SND/1A
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65. Match List-1 with List-II and select the
correct answer using the code given
below the Lists :

List-] List-iT
(Historian) (Book)
A, Bumit Sarkar 1. The Rise and Grouth

of Economio
Nationalism in hndia

B. Bhahid Amin 2. A Rule of Property
Sfor Bengal

C. Ranajil Guha 3. The Swadeshi
Movement in Bengual,
1903-1908

D. Bipan Chandra 4. Ewenf, Metaphor,
Memory—Chaur
Chaura, 1922-1992

Code :

fe) A B C D
3 4 2 1

fh) A B C i)
3 2 4 1

fci

-
SN
&0
w g

(d)

— =
& m
SHe!
w o

66. What form of Shiva is most prominent
in the Brihadeshvara Temple built by
the Chola dynasty?

fa) Harihara
{b) Bhairava
fc} Rudra

{d} Tripurantaka
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63, Tt # A wHE-w Wb, |G qfE A 65. w1 =1 gei-11 & gafem Fifm s gt

Tyl & Feg 91 Y Teeard ¥ T A= A9 T 2 @ S 9w I S

iy el 1 W F g afEenst F Gy &

=i # ar §i -1 HE-11
(zferen) (g

(a) fraa-aa-ft= A FPEEER 1. UG 05 O

(b} TEEAE, e R TErg i e dEE

s=iIE Yt 7 ¥

B. TR e 2. U & HE gidi2 B A

W Hald g C. wEfmTE 3. 7@ 494 5 9,
1903-1908
o) W D. fuR =R 4. @, e, Aei—a
[

(d) S FAE i IT-T- A

64. tas qHE S
1. 1872 § yeell =0 6t 7§
2, 1881 @ Fmfim w9 A 1 91 §
3, g vy % ¥4 A S o S S

41 fou T 2 W R EE W g

(a) A 1

(b) AR 2 #R 3

fej FaEm 13N 2

(d 1,233

SDC-S-8ND/J1A 25
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=T, 1922-1992

+E
fa) A B C D

‘) A B C D
.‘_'I.

3 2 1
fc] A B C D
1 2 4 3
fdf A B c D
1 4 2 3

66, =@ TwEw W A R A B FE @

#1-01 =y gaiiyes fafie 27
fa) T

k) o]
fe) R
(d) Tagues

[P, T.O.
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67. The basic structure doctrine with regard

to the Constitution of India relaies to
1. the power of judicial review

2. the judgment in Kesavananda
Eharati case [1973)

3. the constraints on Article 368 of
the Constitution of India

4. the judgment in  Golaknath
case (L967)

Select the correct answer using the code
given below.

fa) 1, 2 and 3 only
(b} 1,2, 3 and 4
Yo} 1 and 3 only

fdi 2 and 4 only

68. Which of the following fundamental

righta as enshrined in the Constitution
of India belong only to the citizens?

1. Article 19 (Protection of right to
freedom of speech)

2. Article 21 (Protectinon of life and
personal liberty)

3. Article 15 [Prohibition of discri-
minaticn)

4. Article 16 |Egquality of opportunity)

Select the correct answer using the code
given below.

fo} 1, 2 and 3
fb) 2,3 and 4
ff 1,3 and 4

fd) 1 and 4 only

—SDC=-5-SND/1A
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69. A citizen of India will lose his or her

citizenship if he or she
1. renouneces Indian citizenship

2. wvoluntarily acguires the citizenship
of another country

3, marries a citizen of anolher country

4, crticizes the Governmeni

Select the correct anawer using the code
given below,

fa) 1, 2 and 3

(B} 2, 3 and 4

fe) 1 and 2 oenly

{d} 1 and 4

70. Which one of the following stalements

is not correct with respect to protection
of individuals being tried for offences?

fa}l A confession can never be used as
evidence against the accused,

(b) The accused must have violaled an
existing law.

{fc} An accused cannot be tried and
punished for the same offence

again.

fefl The gquantum of punishment muat
be provided in law as it cxisted
on the date of commission of an
offence.
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67. WG & dfeue ¥ wEw § gern A 9

Hag 87
1, i gt ) i
2. HEEEE qEE T (1973) 1 Fofa

3, YNd F HAEM % T 368 W
AT
4, e wEE (1967) # Foa

= Tu T Ez F wEm e wd s g
fa) FEel 1, 2 ¥ 3

M) 1,2, 3314

fc) el 1 #H1 3

(d) e 2 3N 4

68. yiA % ufaym 1 ufmia PrefEfiam 9 4

-7 dfw oitEr FEa Al o
Tl B

1. WI=EE 19 (AT s & AR W
g

2. = 21 (Al 2in ifeE e W
)

3. #g=es 15 (Ade % ufima)

4. =98 16 (et $ W)

2 Taw T 52 % 79w W= h w g

@ 1,233

(b) 2,3 ¥R 4

e/ 1,3 3N 4

() FAw 1 3% 4

SDC-5-3ND/1A 27
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69. WA w1 G0 ArE Sl amiEa @ owm,

oft 97
1, SR AT % i i 8

9. e A ) @ g f amieear 9w
Eaaihy

3. e o= 2w & i @ A s
4. R F s e

T fim o gz = wEm E ad g g
f) 1,2 3R 3
() 2,334
fc) a1 $im 2

(d) 1 %74

70. @qudl & fom fampw fey W @ = f

Wen F "@Ey ¥ FefelEd 9 4 S9-w 0
Fu4 Hel Tt 87

(@) srE-EEn @ siigs + e W
% w9 4 F4f +fi vy =9 T W wa

(b) @Al 3 Tl deE FEE w1 waw
E=eEhe Bl

o) = wFaom F fam oA slimm o=
Terarm =i foran =7 T afn T A A
H el |

(d) @ EE EEE § sEE T E R

T gy ¥ % BEw owm oW 9§
EEEICRl

[P.T. O,
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71. Neil O'Brien, who died recently, was a T4, Who among the following won the Men's
famous Singles Title in the Australian Open
Tennis Tournament, 20167
)} journalist

g} Jamie Murray
fb} billiards player (e

fc) dramatist {b} Bruno Soares

fd} quiz master fc) Novak Djokovic

@) Andy M
T2. Consider the following statement ¢ oy Murmy

“If you feel you are trapped in a black

hole, don't give up. There is a way out.”
75. Which of the following statements about

; ‘o
Who among the following made the the philosopher Shankara isfare true?

above statement? 1. Shankara espoused a form of

Vedania called Advaita,

(). Al Einnbain 2, He claborated on the philosophy

: of Gaudapada.
fb) Stephen Hawking

3. Shankara tried to demonstrate that

fe) €. V. Raman the Upanishads and Brahmasutras
contain & unified, syslemalic
fd) Abdus Salam philosophy.
4., Shankara founded the Amanaya
Mathas.
73. Recently the Government of India cleared
the proposal for the production of Select the correct answer using the code
18 indigenous ‘Dhanush’ artillery guns given below.

to be preduced in India by
fa) 1 and 2 only

fr}  Indian Army
(b} 1, 2 and 3

b) US Army
fe) Indian Ordnance Factory Board () 3 and 4
fd) Indian and US Army jointly (d) 4 only

SDC-5-SND/1A ; 28 -
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71. HE AT, T @ F R g o R, W
e o

jo) TEER &
b Tafamd & faerdt 9
fc) TEEET G

(d) T AR A

72, FildliEn 99 W e fim

“aft st o e a fee 9 B A de
T, G B A HFI gHE HEEE R

vde Fa T § TR fem et
fa) ot AEEH
(b) A i
(c) Hie dlo T
(d) ¥egH T
73. Fe # U Wi debn 4 18wl ggw aw
Hg o I o for, T W A @R
TIEF ToRA W ¥ TR g T st
() WA EA
(b} e THo TN
(c) T gy el A9E

(d) T 3 o WHo BN BN BG4 w9 H

SDC-5-BND/1A

74, SRR S 2w i, 2016 § 75 T
1 faam 798 | fea e &7

(a) St o
(b F HIH
fe) V= SERITEE

(@) T

76. Tfsfgg ¥ @ F9-91/4 % 9viA® o9+
Ty & we B /E7

1. # A ¥5F F T w9, B otta 7 ¥,
=1 Aads e

2, Meug & 2l &1 32 = )

3. A 3 7y WO = v B R
© g, S wgE d U /i, g
73l F-afEE B

4. =t A Y wA ) e

e faw e e el I g
T = o 1
(b) 1,2 30 3
fc) 33W 4
(d} wad 4
[ B T. O
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T6. Which of the following stalements about

the Decean Riots of 1875 iafare true?

1. The Deccan Riots resulted in
protection for peasants through
the Deccan Agriculturalisis Relief
Act of 1879,

2, The rmiota did not spread to the
whole of Maharashtra because of
prompt suppression by the Brilish,

3. The British were unable to contain
the riots and they spread
throughout Maharaghtra,

4, The cotton boom in the Deccan
that had been caused by the
artificial demand generated by the
American  Civil War caused the
impeverishment of the peasants.

Select the correct answer using the code
given below,

fal 1 only

fh) 1 and 3

fe} 2 and 4 only
fdl 1, 2 and 4

T7. Why are the Gypsies regarded as of

Indian origin?
L. They follow
practices.

Indian  religious

2. Their language, called Reomani, is
an [ndo-Aryan language.

3. They believe that they came from
India.

4. Epigraphic evidence locates their
original home in Uttar Pradesh.

78. The term Upari refers to which one of the

following

fa) A calegory of proprietary tenure
under the Mughal rule

{b) A category of tenancy tenure under
the Maratha rule

fc) A scldier in the Maratha army

{d} A wvillage headman in the Mughal
period

79. The ‘water frame’ of Richard Arlowright

was a deviee for

fa) producing a new pe of painling
(B) irrigating fields for rice cultivation
. {c) producing setrong threads of yam

fd} the [aster movement of sieamships

BO. The ‘four great needs' of the people as

identified by the Guomindang were

fa) clothing, food,
transportation

housing and

fb) education, food, housihg and

Select the correct answer using the code health care
given below. '
{al 1 and 4 only fe) food, housing, education and
employment
(b) 2 only WIEES
fcd 1,2 and 4 {d) employment, housing, education
fdl 2 and 3 and health care
5DC-S-SND/1A - . 30 Z
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76, Tr=rfafias 8 9 FH-91/8 99 1875 & 984 & 78, ‘I’ W= Freleman # & fee uw 6 Ty #

a1 & fawg 0 am /87 B7
1. @A % @ % ufonmeEn T FOE
TEd A, 1879 % Aad A e fw) T A F oadE @i s
=i guan fed | w7 Hoft
2. il % awwfes T % F A Q
e i 7 e (b) TS TR R FET AR #
3. oide @i 61 e B o 4 o e A
e # 71 e M)

a. = wa § w gfE, S i o) it e A v A

Tega § I9A FHEW 7 FR A o, 3

e 1 FE R fdj T e H O A g
# fou T e N owEm = EE I gR
(a) e 1 79, frod g w A b Fem wHE ¥ T o
(b 1%R3 Jfte of?
jo) HEE 2 AR 4 5 A -
@ 1,234

{b) == = we B w1 e Ty
77. w0 (Frwll) |1 wwdm 4@ w1 @ HEE

Eini B (c) ER % UeHE W = F A

1. A e i fEe w1 9eE W 2

9. =H oy, S A TR B, (d) === Gl £ e i fen
AT -1 9T 3 _ )

. - E A owmm R

" ;ﬁgwmmt e go. 7Hifiem gm fEifm swm f 9w af

4 gUERR W T A e g we e 0 AT
# wurfr o ) (@) 1, WA, W 9

i fom T = 1 vEm A I g

fa) Hae 1 ¥t 4 (k) Toem, @, = SR = T

vl o fc) @, wt, fian s 3R

fc) 1, 234

(d) 23 (d) T, w, fven e e wn
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£1. Which one of the following was the eatlier
name of Tokyo?

fa) Osaka

fb)  Kyoto
Samurai

fc)

fed] Edao

82. The epic, Silappadikaram refers to the 86

fir)  slory of Rama
fb) Jaina elements in the storyline
fiz}  culture of Sri Lankan Buddhists

fd) cult of Shakti worship

8§3. Rukshusa type of marriage is
{a) marriage by purchase
(b} marriage by capture
fc) marriage by giving dowry
fd} marringe by seduction
84, Who among the following was defeated by
Chile to won the Copa America Football
Championship, 20167
fa) Colombia
{b) Argentina
Ecuadar

(c)

fd}  Peru

SDC-E-SND/1A 32
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85. Which one of the following is the highest

altitude zoo in the world?

fet)
(b)
(c)
(d)

Cheyenne Mountain Zoo
Pandit G. B. Pant High Altitude Zoo
Himalayan Zoological Park, Gangtok

Maidu
Zoological Park

Padmaja Himalayan

. Which one of the following statements
ahour the Missile Technology Conlrol
Regime iz not correct?

(a)

(b)

fci

(d

The Missile Technology Control
Regime is an  informal and
voluntary  partnership  initially

formed ameng G-7 countries.

Members of the Missile Techneology
Contral  Regime  prevent the
proliferation of  missile  and

unmanned aerial vehicle lechnology
capable of carrying above 500 kg
payload fur more than 300 km.

China applied to join the Regime
but members did not offer the
memboership,

No other country outside the
membership follows the Regime
rules.

87. The first Tejas sguadron of Indian Air

Force consists of

(a)
L)
(ci
(cl]

20 aircrafts with 4 in reserve
100 airerafts with 10 in reserve
20 aircrafts with no reserve

35 aircrafts with 5 in reserve

http://iasexamportal.com



81. frafafaa # & #R-m ws, 2= = @A

iy w1t

() HHud

d =

82. HEihE diaafdsy el deafia Ry

fa) T FEE

(k) HYEH H S dw

() i gl 4wl
fd) TR ZATEAT -l

83. TI4H e & HETR B

(o) @R TR T
(b) =€ g e w faa
fc) =g ad T T TEane

fd)  WeAiya A TE e T

84, T FHFF Toaie SEEEE, 2016 SEH F

form foft g Frafefere § & f g i
(a) il

(b) A4

(e) FhER

(d)
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33

Downloaded From: http://iasexamportal.com

85, Fr=feifian o & F9-w1 =9 &1 =9 g T

Tafgamr &7

fa) TEE geq fafgarm

(h) HfEw Sfe Hfte 4n 3| g Fafzarm
fc) Timmem mftn zem, TEE

() et =g fies wi e

B6, F=TefEn A #f A FE-m T, HEREd

el e et o fa § W A et

(o) Tromm Pl Fow w0
F=EiE o afes wEed &, =
3 T G-7 =3 &% | all o)

(h) s iRt e ooEl e
300 km ¥ E F T 500 ke B
ufir e & w9 ¥ wsm e
#n AAE-ThE TR e F O
T T I B %) ehd & |

fe) =M 3 T et d§ mige B9 % fau
wigeed T, wig wEel 3 I oween
TR B

(d) TEE % EET FE AW W OWOTEd %
Fret =1 wiem =8 = B

B7. WA I = wEe du e (2w R

Ty = £7

fa) 20 FFE o ww ¥ 4 fod foe

(b) 100 fHmF 3w we 1 10 4 fem
fc) 20 famam s ma & 5 v faem wd
(d) 25 foamm ofhowy A 5 e famm
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BB. The headguarters of ‘Economic and

Social Commission [or Asia and the
Iacific’ is located at

) Singapore
fh) Manila

e} Bangkok
(] Hong Kong

89, Which of the [ollowing with regard to the

term ‘bank run® is correct?

{a) The net balanee of money a bank
has in its chest at the cnd of the
day’s busincss

{B) The ratie of bank's total deposits
and total liabilities

fo) A panic situation when the deposit
holdera start withdrawing cash
from the banks

{d) The period in which a bank creates
highest credit in the market

90. Which of the [vllowing will be the

outcome if an economy is under the
inflationary pressure?

1. Domestic currency heads for
depreciation,

2. Exporls become less competitive
with imports getting costlier,

3. Cost of borrowing decreases.
4. Bondholders get benefitted.,

Select the correct answer using the code
given below,

fa) 1 and 2

B 2 and 3

fe) 1 and 3 only
fd) 1,3 and 4

SDC-5-SND/ 1A
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91. According to the Classical Theory of

Employment, deviations from the state
of full employment are

fa) purely temporary in nature,
fb) permanent in nature
fo)  imaginary situations

fd] normal situations

92. Capital deepening refers to

fa) going for more fixed capital per
worlier

fb) emphasia on  social  overhead
capital

e eonstant capital-output ratio

d] increasing capital-output ratio

93. Which one of lhe [ollowing statements is

not correct with respect to Article 32 of
the Constitution of India?

{a) 1t provides remedies lo cilizens for
the enforcement of fundamental
rights.

fh] Tt iz a part of fundamental rights.

fo}  The Supreme Court cannoet refuse a
wril petition under Article 32 on the
ground of delay.

(d} Protection under Article 32 also
applies to the enforcement of
ordinary law which has nothing to
do with the fundamental rights.
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88. ‘s#iifE U2 9w wivm wh ufim iz s

Hfafer’ = e wEl fium 27
fa) TEMH
(b) it
jc) EETE
() & i
89. ‘=@ W 3= & Hay A FeiafiEa 4 4 3140
wH #7

ja) o T = e am A w B e
= fmiry # w9 308 3 i

(b) TR % F Fa s SR FW TF@e w

=G RIG]

(c) T wee ) Tl s s uns 99 8
¥ e 3% = 3

(@) 98 =y foad = 4% aem T a=mm
Wi a1 A

90. If TF Wd=EEn FHieER 59 % He g,
Al Frfefad 4 8 #9-8 afrm g1

1. 9l S 1 S B
2. @@ wEm E9 & Wy Frafm w9 wiEe
Ll

3. U o H ST R S|
4, e T Tt 26

i i T 5 W el I g
fm) 13m2

(b) 2 #HR3

fe) Ew 1 #HR 3

[d) 1,334

SDC-S-SNDf1A

91, T % wehdl faeE  sEn, 1 i
+1 a4 Tagew B vEn & B B

@) WER T P ET H e
{b) WEW T TR
fc) THEAHE HTEH]

(d) HT FEE]

92, st TeEI = T W B
fa) wfa = i Faa 95 am
() afe = 95 W w9
fc) TR o -z sr
fd) 7% T e -IeR S
o3, frefifan ot # ¥ W W W ¥
TauA % Wgese 32 F HEg 1 6 A 87

() T ATTRE] = Aiferr sl 3 vadd &
oy 999 wem 4% R

(b) u# dWferes sifierl 1w fewwr 2
c] *wes 32 % T84, = F M W

T AEEE T O oofewm =
ST Tl HE Hhl |

(d) FF=HT 32 *h TR YU, WYRT FA 6
AN B W ot T A 2, Taem s
Ay & # wag 7 2
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94, Which one of the following writs is issued

by the Bupreme Court to secure the
freedom of a person upon unlawful
arrest?

fa] Habcas Corpus
b} Mandamus
jr) Certinrari

fd) Quo Warranto

05. According to the provisions of the

Constitution of India, which vne of the
following is not a fundamental duty?

fa] To respect the National Flag
fb) To defend the country
fe) Ta provide education to one's child

fdj To promote village and cottage
industrica

Under Article 352 of the Constitution
of India, an emergeney can be declared
if security of anv part of India is
threatened by

1. war

2. external aggression
3. armed rebellion

4.  internal disturbance

Select the correct answer using the code
given below,

fa) 1,2 and 3
b} 2, 3 and 4
fo) 1, 3 and 4

{d 1 and 2 only

SDC-5-SND/1A
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97. Which one of the following statements

ig ot true of the Prolection of Women
from Domestic Violence Act, 20052

fn} Thiz Act provides civil remedies
lo protect a woman subjected fo
domestic vinlencea,

(b}  Omnly women can make a complaint
under this legislation.

fr] Helicf may be sought only against
the husband or a male live-in
partner with whom the woman has
lived in a domestic relationship,

fd} The Act includes not just wives

but also women in marmtiage-like
relationshipa.

98, Which one of the following statements

iz not correct?

) Creation of National Investment
and Infrastructure Fund (NIIF)
was announced in Lthe Union
Budget, 2015-16,

(k) NIIF is a fund for enhancing
mmfrastructure  facihity n the
country.

{} NIIF and NIF (Mational Investment
Fund) are the names of the same
organization.

fd) NIIF can have more Llhan one
alternative investment fund,

99. Which one of the following is fot correct

in respect of Andaman and Nicobar
Command?

fa} It is the [irst integrated theatre
command in India.
fb) 1ts headguarters is at Port Blair.

fo) It 18 commanded by a three-star
_officer.

fd] 1t was sct up by the British during
the Second World War.
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o4, Fr=fefan # & F9-w vw smm, fed =fs 97. Ffafan Fubl § @ F9-m v, 9w e @

F W-FE T A =l 99 WM 9, S Higen e sfafas, 2005 F fya & a9
TE ghfas i % o T=en = T it Bt
=T T mn #

() TE AFEE e fem = e g
(@) = TemefEE (3w wiE) ?ﬁmﬂﬁ‘lgtmmﬁaﬁﬁﬁﬁuﬂwﬁm
ST 1 WEY T B

(bj R (Fer) (b @ FEA % st S nieemd & Wi
S s fimrm == = B
; ] (c) FA@ wfa ww=r WM OB TR R WA,
(d) feERR-T=1 (1 =) Forets w19 e 3 Wi He 2,
# Taeg o T Wl s R R

95. WA ¥ Tfau % W % srgn fffin (@ W& v FEa weE A f

i H FH-H UF HAw Fo TR Aty wwm ®, =fes foame-o9 dadi #
@) TR W 4 areht afeend off gek siaia et #)
(b) 1 i wiewen F o8, fr=fifies ol 7 & #9-w % o 7 #7
(c) % ==t % e wEm = (@ TE FEwm o swafE s wm
NIIF) T HWOT TEE e,
() W U I TR A ng,l_mﬁﬁ:é?q@
(b) NIF = Tm =m ¥, =i 59 § aafe
96, Wi % Hauwd & et 352 F 0, Hee st H a9E W gy
AT 1 HIWON w] W Al §, 918 W ;
; (¢) NIF 3R NIF (7ohg Fem #m) v d
%m?ﬂgm@mﬁ e
- 3% (@ Nur # uEk ® aftm s Ry &y
2. faarf wmeam @ T B
3. T FEE Y
4. i T @ 99, Frfafas # # FF-w =, sizAw @R REEn
FHH % Hey  wE T A7
A T T g 0 T T (@ a8 A el TEA T w2
(@ 1,233 (b) TR TS O e | 2
(bl 2,334 (¢} % UH diR-FEm eEa Afwd 5w
frifam 2 21
) 1,331 4 .
(d) TR T e e Re g ¥
(d) = 1 a2 4 =i )
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100. Who iz the Chairman of the Chiefs of
Staff Commitiee?

fa) The Chief of Army Staff
fb) The Chief of Naval 3tafl
fe} The Chief of Air Staff
fdj The member who has been the
longest on the Committee
101. Jammu and Kashmir Rifles is

fa) an infantry regiment of the Indian
Army

{b) a battalion of the Rashtriya Rifles

) the name of the Armed Police of the
State of Jammu and Kashmir

fdl a paramilitary force under the
Ministry of Home Affairs

102. Which one of the fallowing is carrect?

fo) Infantry Regiment is also known as
the Mechanized Infantry Regiment.

(b) Corps of Electrical and Mechanical
Engineers is subsumed in the
Corps of Engineers,

fc} Army Medical Corps and Army

Dental Corps are two divisions of
the Army Service Corps.

{d) Army has its own Corps of Air
Defence.

SpDC-3-SND/1A =

103. Which one of the following is net one of
the Commands of the Indian Army?

fa) South Western Command

(b} North Eastern Command

fc) Central Command

(d} Army Training Command [ARTRAC)
104, Which one of the following statements

is correct?

fn) The rank of Second Lieutenant has
been abolished.

fb) The Chief of Army Staff carries the
rank of Field Marshal,

fe) Al officera posted to Andaman and
MNicobar lslands wear the ranks of
the Indian Nawvy.

{d) The rank of Major General is higher
than the rank of Lieutenant
General.

105. Which one of the following is mot an
Air Defence Missile system?
fa) Akash
{b) Trishul
fo} Tatra

(d) Astra
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100. w2 wfify % mEt =1 svng 5 B2

() YA TR W WA
(b} N W= w1 A

(c) TR TEIF TS

(d) d% wEEg, S atta § g=d #ihe ged
GERE

101, = it i TEHed ¥ 7

(@) VAN T % U Uew o i
(b) I TEREH I UF ST (FRTEES)

(e) ¥7 i wwin 7=y % A@vw O =
am

(d} T T % dE Tw WA T

102, Fr=feiEa § § =9-91 T g8 27

o)t T iR T i e B Mk
% A A ) S R

(b) aud i A wiams & &/
TfiE I H i T R

(c) = Tafrem w HAn &= 7= R, &9
a1 W F 7 felem B

(d) = Fen Feh T gen wh #)

SDC-5-5ND/1A

39

Downloaded From: http://iasexamportal.com

103. FrefefEa # 4 S59-51 ©F A9RdE 9 & FHE]

T 4 T% e T R
fa) Fiam-giind w=0m
(B) Eﬂi—q:aﬁ FH

fe) “Hesla FHA

(d) 1 WEEM FEOH (ARTRAC)

104, Trietiad A O ®F-T1 UF wu7 Hel 27

fa) HFE W2 % T F THE w=OfEE
™ EI -

(bj FC TR W WE, $ies WElE i E
g

(e} = &R FFEr e w T
wft i e e # wEd foo
T E

(d) TSR SE T 98, TR a9 T 8
i b U |

105, Fr=fefian # @ =R-df o, 9 ofwen wsmms

Tt T 87
(o) HTEHE]

() Torpm
(c) 7

(d) =
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106. Which one of the following statements is 110. The members of NAFTA are
correct with respect to the compasition () USA, Canada and Mexica

of naticnal income in India? b} USA, Canada and India
fa The share of manufacturing sector fc) USA, Canada and Japan
has declined. (d) USA, UK and India

f} The share of services sector has

increased ‘shazrply; 111. Which of the following are constitutional

provisions and laws for the protection

fcf The share of agriculture has of the rights of the Scheduled Caates

remained static. in India?
: ic - ituti I
{d/ The share of services sector has : E;T:ﬂ LE ALt emaiiginn.
CRelae: 9. The Protection of Civil Rights

Act, 1955

107. In India, the term ‘hot money' is used to 3. The Scheduled Castes and the
refer to Scheduled Tribes (Prevention of

Atrocities] Act, 1989

Select the correct answer using the code
given below.

fa) Currency + Eeserves with the REI
fh) Net GDR

fc) MNet Foreign Direcl Investment fa) 1 and 3 only
f) 1 and 2 only
fe} 1,2 and 3

fdd} 2 and 3 only

fd} Foreign Portfolic Investment

10B. Which of the following is/are credit rating

agency/agencics in India? 112. Which ene of the fellowing iz net true

(a} CRISIL about the powers of the Supreme
Court?

(Bt ek fe} The Supreme Courl has original

() ICRA and exclusive jurisdiction in inter-

governmental disputes,

@} AN of the ahowe fb) The Supreme Court haz advisory

jurisdiction on a question of law or

109. Who among the following is the fact which may be referred to it by
Chairman of the Fourteenth Finance the President of India.
Commission? fc) The Supreme Court has the power

: to review its own judgment or
fal C. Rangarajan e+
(b) Vijay Kelkar {d} The Supreme Court has the
lusive power to issue writs to
Y. V. Redd o
fel iz | protecl the fundsmental rights of
fd) Rakesh Mohan the people.

SDC-5-SND/1A 40 —
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106. 974G T T FF & §94 & wag T Fefafa

# U HH- T FAT A BT

fa) Fwh & % s il R
(b) & A9 % aiw ¥ At afy vl R
-ﬁ:} $1Y w1 i fe amn gan B
(d) BEAE o o wd R

107, wrd 4 "I g=y (Ee 941 s Trad Eed

# wge T wwen 7

fa) FE + Ao He e A RfEE G
(b) ¥ o Flo e

(o) WG Tl v fEm

(d) TR T fEm

108. 9ra H sfgz Pufo vl /oSyl fofifsg o

GRACE:E Sl
(a) CRISIL
(b) CARE
(e} ICRA
(d) T

109, i1 4 $FF JEE B9 9 F g §7

(a) Hia TREH
(b) Tersrr e
(c) ame e
(d) T HE
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110. THeo To The e Uo A T

(@) Fo THo Yo, 121 &1 Afakeh]
(b} o THo To, FHATET AR WA

(c) Fo THe Ta, FATEl HR M
(d) o Te To, Jo e 3R WA

111, YA § Aggfaa wniaal & s 6 gun &

o, Ffafan 4 4 FR-2 GdafE aEe
N FE §7

1. T % UREYE % 378 17

2. Wi sfiEr g wiEfaeg, 1955

3. oggia wifoal R gl swenfat
(arem=m Framm) sifufes, 1989

i Ty e g2 w1 wEe = uE I gh|
fa) Faw 133
(b FAE 1 w2
fe) 1,23M3
(d) FaEe 2 ama

112. 3I=0H ey S ufea B 8 Aefati

B Q F-w1 s wew TE R

() Haviosm faEmEl § =W AEEE 0w
3N 3 AR TE B

(b) FTHGH A FH vy seEr
AW W, T WWa ® a3 ffe
T mn B, weEER SftEfEn T R

fe) F=wE ~rEd - Tl Bl @ oaiw
W gAtEER F F i R

(d) =T % A AlEd o wn ¥ fem
iR S HA R S wife =
Y § 94 2

| BT O
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113. The Sixth Schedule of the Constitution of

India pertains to the administration of
tribal areas in which of the [llowing
States?

{a] Assam, Meghalaya, Tripura and

Mimoram

(B} Meghalaya, Tripura, Manipur and
Mizoram

{e) Assam, Manipur, Meghalaya and
Tripura

{dl Mamipur, Meghalaya, Tripura and
Arunachal Pradesh

114, Which one of the follewing statements

with regard to the Ninth Schedule of
the Constitution of India iz rot correct?

fa) It was inserted by the Constitution
(First Amendment] Acl, 1951,

{B] The Acts and Regulations specified
in the Ninth Schedule shall become
void on the ground that it violates a
fundamental right in Part III of the
Constitution.

fe) The Supreme Court has the power
of judicial review of an Act included
in the Ninth Schedule on the
doctrine of basic structure.

{d] The appropriate Legislature can
repeal or amend an Act specified in
the Ninth Schedule.

SDC-85-8ND/f1A =

115. Consider the following statements about

Harappan cities :

1. Roads were not always absolutely
straight and did not always cross
cne another at right angles.

2. A striking feature is the uniformity
in the average size of the bricks for
houses and for city walls.

Which of the statements piven above
is/are correct? '

fal 1 only

(b} 2 only

{c¢j Both 1 and 2
{d) MNeither 1 nor 2

116. Match ListI with List-IT and select the

= 0 B

correct answer using the code given
below the Lists @

List=! List-II
{Term) {(Meaning)
Kurinchi 1. Pastoral region

Palai 2. Seashore
Neytal 3. Ard region

Mullai 4, Mountainous region
Code :
fa) A B G D
1 2 3 4
bl A B C D
1 3 2 4
fe} A B C D
4 3 2 1
fd] A B C D
4 2 3 1
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o o= @ wedE &E % seeE o Uy e i

Ta #7 1. w=h wen gl @@ A el Al B o
N UE-gEl W OREW EOEM A
e o |

(o) 3EH, WU, A SR i . .,
2. TE SN TEEwE 9w R fR oul el

b1 UM 2 A 2 e o oy 1 = e 1

() B, Fiyn, gl @ s TFREATH &

s el 4 & ooyl 3/
c) v, T, FeTErE aft g fa) 1

fb) FEE 2
() g, oo, g of srevreE W () 13023

fd) AT dAad 2

114, wid + #HiEwm $i A6 g+ d@Ew © 116. g1 9 gf11 # gk FifRm @t g E

frfefees # & #9-m v Faw wd T R 412 Ry, e 5 = W WA I gh
. . eI 11
fa) T8 WEUE (7um wwhe)  afufem, (7r=) (w1sf)
1951 = e | wiefem fen o _
A, Fif 1. =RITE &
b) Nt sy 3 e o st @ % W A W
fafe 38 war w == B smen C. T 3. YFET
EE I iE M IO |V O I D. gk 4, dE i
HTHFN T I F= B
T2
(o) el dege % foaaim A gy A ol ? ._3 g 4D
snfier faedt sl & ~anfaes gadem T
1 7t T=ran =ETeE % U R ) 1 3 g 4D
@ A B C D
(a) et s & R B ot 9 43 2 1
ugw faummed Mo 9 deife #= [d A B C D
eI & @ @ 31
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117. Which of the following statementls with

regard to the conduct of elections in

India is/are not correct?

1. The respensibility for the prepara-
tion of the electoral rolls is vested
in the Election Commission of
India.

2. The Model Code of Conduct comes
into existenice as soon as the date
of the election i1s anncunced.

3. The laws relating to delimitation of
constituencies are made by the
Election Commission of Tndia,

4. No election shall be called in
question except by an election
petition.

Select the correct answer using the code
given below.

{a) 3 only
(b} 1, 2 and 4
fel 1,2 and 3
fd) 4 only

118, Which one of the following statements

with regard to the Natienal Commission
far Scheduled Tribes is neot correct?

fa) The Union and every State
Government shall consult the
Commission on all major pelicy
matters affecting Scheduled Tribes,

% ANl the reports of the Commission
and its recommendations shall be
laid only hefore Lok Sabha.

{c) The Commission, while investiga-
ling any matter, has all the powers
of a Civil Court.

fd] The Commission has the power fo
regulate its own procedures.

SDC-5-8NLI/1A

119. The right to form associationa and

unions is a right

fa) guaranteed to everybody

(h) to freedom guaranteed to citizens
only

fc) to equality before law

jd) to life and personal liberty

120. Some Indian territory was transferred in

2015 w Bangladesh by following which
procedure?

fa) By an apreement between the
Government of India and the
Government of Bangladesh

fb) By a legislation passed by the
Parliament amending Schedule 1 to
the Constitution of India

{e) By amending Schedule 1 to the
Constitution of India by exercising
amending power of the Parliament

(d) By amending SBchedule 1 to the
Constitution of India by exercising
amending power of the Parliament
and ratification by sixteen Stale
Legislatures
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wegfe wea-wd d safman g fm o em s T ave B
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(i) of B InfEan wF @ wivs = ¥ &, WM W TEw T W e, gaf fe e el 4§ oF W e e,
i oft 39 wA % fom TrdwEn ) 6 @R # osve fem )
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Note ;: English version of the instructions is printed on the front cover of this Booklet.
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